SHEEXEN-EEMHLAER/NL—FR—ILBFEXRE EREHR2HRSHUR
1. H Sf6HFE6H1H () . 6 H2H (H)

2. BT wAESRESFEA (AL B)
A2 W RSLE DT mEFER (CL D)

3. BT bh—Fxh

A3

Al A2
_______ I ) SR S
Al A2 B2 B1
i N . 3 b
e # * g = i ¥ i
& i e i ﬁé - @ Z
i & 1

RRZ SR (F+)

BT (TiERkR)

4. BFP—F AL b

B3

B1 B2
_______ e b
3 2 D2 D1

1
j( ﬂ4:‘IEI .
Iﬁh = e
i A3 B o 7 o % i
H B F ot i? 5 [ il JI
B
- fiF

BREHY (LF)

B (TR

5. BEERE
- BHEERFE O : 00 H1IREDOHABEE R— &> TOMEIL3 0 0FIND
FH1AE5:10:00
A  B2REBOTFT =206 44T HOLKRITAITT—2005 84

AETH - REERE TR 1 6 R ASEE  ERe DB eI 2 05
- KT —h (REFLETD) THLAEIIZOWTEXTEBRL LI LTI EE N,

* BHEHAMIOW TS T — Aiﬁ%%o“(”‘®¥$b“(<téb\
cREEI T4 7%9 15KV ITVWET, BFLEFT, AXEI -T2 7ETITRHLTIZSN,



